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SERMO T iRICHIET 51 alEfitA
ﬁ%ﬁg TEZEOBBDESLADAES TEEDHEBESSENDKRES TEZEOBBOESLNDKRES TEEFRHBESENDAES
S k% N e e 0 sl B A e B A i il 7 B el A
; 100kN/m##%%| 100 000~ 289 151.86|3mEBAD| 000~ 275 449 19.76{ 100kN/m#&#BZA5 | 1.00| 1319~ 5077 151.86|3mERBR B | 2000 ~ 50.77| 4.49 19.76
Th st 1.00| 289~ 958 100.00 TS | 275~ 958 300 13.20 FhLst 1.00| 500~ 1319 100.00( FNLS | 500~ 2000 300 13.20
B 100kN/ Mm% 25| 100 000~ 276 149.41|3mFHBAD| 000~ 245 420 18.49| 100kN/ Mm%z % 1.00| 1260 ~ 51.37 149.41|3m%FHBZ B | 2500 ~ 51.37| 420 18.49
ZhLst 1.00| 276~ 945 100.00 TN | 245~ 945 300 13.20 FhLst 1.00| 500~ 1260 100.00( FNLS | 500~ 2500 300 13.20
5 100kN/mZE# 25| 100 000~ 252 144.71|3m%EHBZ S| 000~ 227 406 17.86| 100kN/ Mm% % % 1.00| 1278 ~ 51.37 144.71|3m%FHBZ B | 2500 ~ 51.37| 4.06 17.86
ZFh LSt 1.00| 252~ 920 100.00) NS | 227~ 920 300 13.20 ZFh Lt 1.00| 500~ 1278 100.00) FNLSL | 500~ 2500 300 13.20
p 100kN/mM##25| - - o~ - - 3ImEHBZA| - ~ - - - 100kN/MZEE25 | - - o~ - - 3mEHAS| - ~ - - -
ZFh LSt 1.00| 000~ 634 94.29| FNLSL | 000~ 634 227 10.00 ZFh Lt 1.00| 500~ 1137 9429 FNLS | 500~ 11.37 227 10.00
5 100kN/mM##25| - - o~ - - 3ImEHBZA| - ~ - - - 100kN/MZEE25 | - - o~ - - 3mEHEAS| - ~ - - -
ZFh LSt 1.00| 000~ 503 73811 FNLLS | ooo~ o000 161 7.07 ZFh st 1.00| 500~ 9.10 73811 TS | 500~ 910 161 7.07
100kN/m## 2% ~ 3mZHZ D ~ 100kN/ Mm%z % ~ ImEHBAD ~
ZhLLst ~ ThLlst ~ ThLlst ~ Zh st ~
100kN/m## 2% ~ 3mZHZD ~ 100kN/ M %22 % ~ ImEHBAD ~
ZhLLs ~ ZhLlst ~ ZhLlst ~ Zh st ~
100kN/ Mm% 2% ~ 3mEHBZD ~ 100kN/ Mm% 2Z% ~ 3ImEHBAD ~
ZhLst ~ ZhLst ~ ZhLst ~ Zhn st ~
100kN/ Mm% 2% ~ 3mEHBZD ~ 100kN/M##2% ~ 3ImEHBAD ~
ZhLst ~ ZhLst ~ ZhLst ~ Zhn st ~
100kN/ Mm% 2% ~ 3mEHBZD ~ 100kN/M##Z% ~ 3ImEHBAD ~
ZhLst ~ FhLst ~ FhLst ~ Zhn st ~
100kN/ Mm% 2% ~ 3mEHBZD ~ 100kN/M##2% ~ 3ImEHBAD ~
ZhLst ~ FhLst ~ ZhLst ~ Zhn st ~
100kN/m## 2% ~ 3ImZEHBZD ~ 100kN/ Mm% % ~ ImEHBRD ~
EnList ~ EhList ~ ThLst ~ ZTh st ~
100kN/ Mm% 2% ~ 3ImEHBAD ~ 100kN/mM##8 2% ~ 3ImEBAD ~
EhList ~ EhList ~ ThLst ~ ZFh st ~
100kN/ Mm% 2% ~ 3ImEHBAD ~ 100kN/mM##8 x5 ~ 3ImEHBAD ~
EhList ~ EhList ~ ThLst ~ ZFh st ~
100kN/m#%# 2% ~ 3ImEHBAD ~ 100kN/mM##8 x5 ~ 3ImEBAD ~
EhList ~ EhList ~ ThLst ~ Fh st ~




